A can complete a piece of work in 25
days and B can complete the same
work in 20 days. B alone start the work

and work for 10 days and then left the
work. In how many days will A alone
complete the remaining work?

1) 10.5 2) 11.5
3) 12.5 4) 13.5

A Toret shTa <Rt 25 ToTT 90T R TehdT § TR B
FHT T <Y 20 AT G 6T FehelT 21 B ehed
HTH JT& HEAT & TR 10 31 o forg oo e &

TR TOFT ohTH DTS 24T §| I hTH &kl A 3Tehel
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Three bottles of equal capacity containing
mixture of milk and water inratio1: 2, 3:
2 and 5 : 3 respectively. These three bottles

are emptied into a large bottle. What will be
the ratio of milk and water respectively In
the large bottle?

1.)17:23 2) 73 : 91
3.) 121 : 153 4) 187 : 173

oI T QAT STt Sidelt § ger SR Tt T
fsrorsREST: 1:2,3 : 2 315 : 38 | g
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Average age of a team having 12
players is 23 years. If the age of the
coach is also included, then the

average age increases by 2 years.
What is the age (in years) of the

coach?
1.) 41 2) 47
3) 49 4) 51

12 Raenteat it vk i 61 sitea oy 23 a9 &
| afg e Y o1 o ot wiufera W foran s,
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Points A and B are 70 km apart on a high
way and two cars start at the same time.
If they travel in the same direction they

will meet after 7 hours, but if the travel
towards each other they will meet after 1
hours. Find the speed of the two cars.

1) 30,40 2) 50,20
3) 45,25 4) 33,37

Ueh 8139 WA faig A 3 B o sfter a1 gl 70 e,
% 3T 31 R ek &1 AHT & TAT TR il & | At
ITH A T A T T I A AT T 7 oS |
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The capital of Aand B are Rs.20,000 and
Rs.4000 respectively . A s entitled to be

paid a salary of Rs. 1200 per annum
gross profit for one year is Rs. 1800, their
shares in the profit are respectively

1) 1500,300 2) 1700,100
3) 1600,200 4) 1400,400

A 3T B g7 ferat mram et skt 20,000 T9 3R
4000 TTI 1 A ! Ut T 1200 T a7 &6 &
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Ifa:b=Db:c,then a*: b*is equal to
1) ac = b? 2) c%: a?

3) a2: c? 4) b?: ac




AB is a line segment of length 9 cm and C is
the mid point of the segment. If three
semicircle with diameter AB, AC and CB Is

drawn on the same side of segment . If a
circle is drawn to touch all three semicircle,
then find the radius of the circle.

1) 4.5 2) 4
3) 3.5 4) 3

T TS AB Rl &idTE 9 BHT 8 TR C WETEE 6l
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Study the Pie-Chart and answer the following questions.In the given Pie-chart, the

comparative study of the production of Rice, Wheat, Sugar and Tea of a country is given.

The ratio of sum of wheat and sugar production to

difference in production of rice and tea is
ST R BT o el IcATST qAT g HR ST o IeuTe o S T AT 2-

PRODUCTION

1)4:5 2)5: 4 3)6:1 4)1:6




Study the Pie-Chart and answer the following questions.In the given Pie-chart, the

comparative study of the production of Rice, Wheat, Sugar and Tea of a country is given.

The Central angle of Wheat % Is
PRODUCTION AT 9% T FHT BT

(2N

1) 480 2) 720 3) 108° 4) 1120




Study the Pie-Chart and answer the following questions.In the given Pie-chart, the

comparative study of the production of Rice, Wheat, Sugar and Tea of a country is given.

The production of rice and tea is how much % more than

production of wheat -
ST AR AT T IUTSA g oh Iedrad § foha % aAfers 2,

PRODUCTION

1) 30% 2) 50% 4) 100% 3) 75%




Study the Pie-Chart and answer the following questions.In the given Pie-chart, the

comparative study of the production of Rice, Wheat, Sugar and Tea of a country is given.

The total production of Rice, Wheat, sugar and Tea is 500000
PRODUCTION Kgs. The production of Rice in the country is
ATA, TE, TAHT SR o T HeT IearaT 500000 FheTHITe & | 397 | Arered ot

IeUTEA 8 -

1) 175000  2) 225000 3) 275000 4) 325000







